A 23} £ol7k 5em 2 22 97150 dsunh o[ ¢t
£ 2Ed = 24 2.

tlﬂ,

=[ Jx3.14x[ ]=157(cm?

>
>
> ®=e: 10
>

(F4lo]) = (BH 2 F) x3.14x (=°])

[ ] otell= 22 2 59] Zo|e} Eol7t Eoftt). whakA
10,594t




B
BH

A~
N

@ 247




Gl

o] 27)7} thg Ut

)
T

IS

1

o]
et
24,

O I
1 1
O O
T:Tl
Lr
—

el 127

Ago] g,
Wit GEe $22 ol gy

=
A9] 2

~

ol

ar
ol

=
=
=
A

r mh

00O




4. 750 AL} old AL R 2

O]

of wet o 7HA 2 UERd 4 9l
gy

A7159] AR EAA HNE o] moFe




5. o AR GHE AP ] RulE FelAe

@

~12.56em--" |\

O

L

o

=
w

>
[> Heh: 75.36.0m®

0
I

Hk2)29] Aol [ Jemet s
Dx 2% 3.14 = 12.56( cm)

[ ]=2(cm)

(F1]) =2x2x3.14 x 6 = 75.36(cm?)




